aF0 35y 5 2 % 15
(LI v _ KURBUEE
o rm ward] B R B s PN BEREENEECET SRS
% i a 2 # @ # e
B BHIFIE DR £ 11 1200 2,600 1300 1.3 —|  —
JERT £t - | B# — B b L
| SRET E=:1 — | B —JE e
H T £ L1 12 2. 60 130 1.3 —| —
HRECART £ 1M 12t 2.6 130 1.3 —| —
HBFRT o LLIME Lot 2.6 1,300 1.3 —| —
FHIEHT ERAEHE S R FR i 1. 2 [F LR IEUE Lh T e e b T | —
ERRELAN O sl
1 FREiRBLHIEIN o B Hh s —fti 1. 2 2. e e
2 _ERES O L1 208 20ff 1.3%0 1.3 —| —
T B TR E b o> i Hbsk L1 EMEE Lot b e b | —
ERCEAS D Hitsk
1 [Eifi 2 2 6 BHRn o Hik L2 200 20 L3 1.3 —| —
(FREERFUHIE P o B HUX IR A2 R <)
2 _EEREA O L1 1.2 =
Z| FEICZRET =0 — | B - -
) KERALET S T I b oD 3kt 1.3 Atk - =
_RFLEAS O el
1 JRSER MU N O R XK —ft Lo 2.6~ —|  —| -
2 ERLEAMA O i L3 20/ 208 1.3%0 1.3 —| —
KGR EiE 2 2 6 BHRV O LO%&%@%QL&%&&@ - -
(B ZEIR B Py oD B F HE KBk 2 R <)
EFRLASR 0 i 120 1o 2.6 1300 1.3 —| —
REPEHT Ecei L1 12 2,600 1300 1.3 — -
K ET EiHE 2 2 6 HHnVO MUK Lzﬁmﬁgm;Lkﬁiw% -l -
(B BRI P 0D B2 FH B A 5k <)
_ERCLASR O sk L1l 12l 20600 1380 1.3 —| —
#romr Eo: - | B —Emg% o e I I
Ny EEERENT 8 SR LB PN O JR T il (X —fl 120 2.6 — - - -
L FRLIS O i de LU 20 206 130 1.3 — -




aF0 35y fis 2 % 2H
(LI v _ HREHEE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
% i a i # @ #
Ay A RET £ L1RE 12 2,600 1.3%0 1.3 —| —
¥ BFHT =it L1l 1o 2,600 1300 1.3 —|  —
&) ARJFET R TR EE o A i 1.2 Ekbi’@ﬁkbi’jﬁ?kﬁ%ﬁ?tbi’é o
_ERRLLSR o Hiutsk
1 JRSEIR BHIE PN oD fe i K — L2 -~ | —
2 _ERCEAS o> itk Lo 20 2080 1.3%0 1.3 — -
EAILI g1 L1 Lol 2660 1360 1.3~ —
AUy e 1.0t 1. 2%t 2. et 1.3E Ly~ -
THAHT Eced 1.2 60 12l 2. 60 130 1.3 —| —
<| EFLAT =t 1.0 [ffi 1. 28l 2. Iﬁ L3 1.3~  —
Z| /NERET g L3 12l 2. 680 1,390 1.3 —| -
ARIGRT Ece L2t L2l 20600 1390 1.3 —| —
Ly N Ecei L2 12l 2.6l 1300 1.3 —| —
FFET =i L7 120 2 680 130 1.3 —| —
&| BEAHT gt = | BE# - tl:j - - - -
SR HTET T E TS oo F AU
1 BRI e — | B ELEHER e e b | —
2 LRELA DR L2 FEE e e e ey~ —
L FE LIS D Hite,
1 B B P o e i i K = I
2 LR oM 1.1 - -
AT B AR A Mgk — | E#H - -
RCLLA o e 1.1 - =
BT EiE 2 2 5 HHnO O MK 1.0 - -
(ASEIRBLHRN O BT MR S % B <)
_ERCLASR O sk L2l 1200 2,600 1380 1.3y —| —
B _BHT gceid L3 120l 2. 680 1380 1.3 —| —
BELAHT g L1JE 1280 2. 680 1360 1.3 —| -
(AL =) 1.5 1, 2E:: 2. 600 1. 30 1.3 — -




aF0 35y 5 2 % 3H
(LI v _ HREHEE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
% i # e
&| B LpET £ 115 1.2 - =
HET e 1.0t 1.2 - -
L #HEr E=:1 — | B - -
¥ RET £ - | B - -
W ALRT A TR T o A 1.0 |8 - -
_ERLEAA D sk
1 JREEIR B MU O R i i 1.2 - -
2 _ERRLUS o s L1% 15 - -
R T TR R Lo R ik 11 JE e - -
ERREIA @ Hils
1 BESEIR IS O B H K —t L2826 —  —|  —| -
2 _hEEL o Mt L1 15 208 1366 1.3f —| —
AT Ecei L3 L2l 2.6l 1300 1.3 —| —
HRALRT =i 1O 120 2. 680 1.30 1.3 —| —
ER AT gt 1O 1,200 2. 60 130 1.3  — -
HREAT g1 L1 120 2.6 130 1.3 —| —
3 ST e — | B - - - - - -
WHTHT =il 1.3 3Ly~ —
% R REET g 1.3 LY — -
I3 52 AT Ecei 1.0 SO LY~ =
=R £z — | B - - -
SZARAEET R TR S oo ikt 1.0 itk - -
L FRLLA o Hittek
1 FREEIRBUHUE P o — o2 -]~ — -
2 EFRLISt oo i L1 20fh 20 1360 1.3 —| —
SEARAHT Eait 1.1 |8 He s b - - -
FE A 1T £ L2 % 1ol 2,680 1300 1.3  —| —
B FALEET £ = | HH — [ Lk - - -




aF0 35y 5 2 % 4
(LI v _ HREHEE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
% i a i # @ #
b A gLET R T E T b o F v sk 1.0 B LLYEE L e e Ve b — -
- FELLSh o> Hittek
1 FEBEIROUMUEG P o B A X - - - -
2 _EERLIA O 1.1 w130~ —
&| ST Eed 1.1 o1y | —
72 HhET Eee ) = | E&#R e T I
W2 PEARHT i) — | B o e B
()-8 Eae:9 1.3 3Ly | -
=T Eced L0 S Ly~ —
Oy BAHT gt = | B f [;ﬂ:[:?E o
REEE g 1.2 WLy - —
K HHHT e 1.0 w13 - -
KRBT Ecei 0.9 WLy = -
Kz A ALET =i 1.3 1.3 - -
H oz T gt = | BE# f r;fftt?ﬁ% - -
ST R — | B ke~ -
_ERRLISR O Hithik 1.3 ot IR
~ BURF =il 1.1 oLy~ —
BUFFPEET g 1.5 w13 — -
R SRET g 1.5 SO LY~ -
k| faz BT e — | B - - -
F >Ry e 1.2 ¥ Ly - —
ol £ L3 Ly~ -
N Wb RLET £ 1.2 I Ly ] -
18 B AT Ece 1.3 Ly~ —
et Eae 1.1 3Ly | —
HERT £ — | B - A -
EHIAT £ = | HH = s




aF0 35y fis 2 % 5E
(LI v _ HREHEE
o wrs] @ W w w5 PN BEERENBECEISEES
% i a 2 # f# # e
2 E T R AT S oo F ks
1 BRI M — | BRAL ECHER b e b | —
2 LEELA oMl Llﬁngmﬁmmﬁmm@ o
_ERRLLSR o Hiutsk
1 JRSEIR BHIE PN oD fe i K —# 1.2 - -
2 BBt o s Lo 15 —- -
FET it — | B o
ERRELAN O sl 1.3 A e - -
ESHE Eced 1.2 1.2 - -
| BAFnET A e A — | BRI o
_ERELASR D Hi e 1.1 | He s b v b e -l -
SEUES) Bt — | B A b =
| FHERT R T E R o P iR ek
1 KA — | BEM E b - -

2 hRRLLAA o M
ERELASR D itk

1 REEHRBUIN o 2 Hh

2 ERLA DR

1.1

1.3

R b A b T

#1200 2.6 -
fro1s 20fE 1.2




